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Note that for a total school population of 385 (e.g. Columbus), 2 children (the “de minimus” threshold) is .5% of the population.

Columbus enrollment: 385  presumably 
318 (82.6%) minority, 67 (17.4%) non-minority

minus Kindergarten (assumed 60 kids)


	Columbus enrollment: “goal” 1999
	385
	318 (82.6%)
	67 (17.5%)

	Columbus minus kindergarten: (60 kids assumed)
	325
	267 (82.7)
	58 (17.3 %)

	Kids “picked up” by the selection process
	
	51  (a-b)
	9 (to net 17.5%)

	
	
	
	8 ( net 17.1%)

	
	
	
	7 (net 16.9%)

	
	
	
	6 (net 16.6%)


If we’re four kids “out” on “non-minority”, the non-minority total of the school is 16.6%.

NOTE that these numbers are being regarded as outcomes.  OUTCOMES do not equal application acceptance rates because of attrition and transience of various forms.  The rate of transience is not uniform over the whole population.  It is much greater for the non-minority students.

Hence, in order to wind up with 9 kids, for example, we have to accept more than that.

NOTE that the “de minimus” threshold, for example, 2 kids, imposes a steady bias or offset on the outcome.  That is because the “plus or minus 2 kids”  will always, for non-minority, be minus two kids (.5%).  Hence, you may as well just factor it into your figures.  If your desire is 17.5%, because of  “de minimus” you will consistently NEVER exceed 17.5% - .5%.  To accommodate this fact, we must aim our acceptance rate at at least 17.5% + .5% (recognizing that de minimus will cause the actual acceptance rate to be no higher than 17.5%).

Hence, we propose a trigger as follows.

If we are four or more children away from our non-minority target acceptance rate of 17.5% + .5% (de minimus) + x% (to offset transience), then we use race.

The “non-minority population” goal for each school is related, by factors which we can declare based upon our three years’ experience, to a “non-minority assignments” figure.  That is, in order to get 9 non-minority kids in the Columbus kindergarten we assign a larger number of non-minority applications, such as 11 or 12.

To avoid embarrassing and confusing explanations of the relationship between these two figures, which gets into concepts like “insincere applications”, etc., we could just refer to the “non-minority application acceptance” rate as our “goal.”  Though I have explained the difference to Jerry and he completely understands it, he recommends we avoid mentioning  such mechanics to the lawyers or putting it in writing in the Plan.

So our “trigger” criterion is, if we are four or more children away from our “non-minority assignments” figure - call it crudely, our “goal” - then we use race.  In my little example, then it means that if we have 9-12 non-minority assignments without using race, we leave it alone.  If we have 8 or less non-minority assignments without race, then we kick in race.

Concern: when we’re talking about as few as 9 kids (the desired non-minority popuation of entering Kindergarten for Columbus), then 4 kids is a huge tolerance.  Maybe we have to go to three.

When Jerry and the others ask “how many kids are affected by the use of race”, an answer goes as follows.  By the “use of race”, we want to assure 9 non-minority kids (out of 60) in the Columbus kindergarten.  Assuming a pool of applicants which is 90% minority, then a completely random process would result in 6 non-minority kids.  The difference is 3 kids out of a kindergarten of 60.  This means that a total of six kids are affected - the three additional non-minority kids assigned, and the three minority kids that got bumped by them.  This number of “affected” kids gets even smaller if we consider that our Socio-ec bands would hopefully have increased the non-minority admittees to something over 6 - hopefully 7, 8 or even 9.  If the Socio-ec method yielded 8 kids, then using race fetches only one more, indicating that only two kids are “affected by the use of race.”

I hope this is intelligible.  These are the extent of my thoughts. I think that this sort of thinking will be accepted.  Our task is just to choose the exact language to describe it which best serves our purpose - our purpose now being mainly to “get off the hook.”

